Monday, October 5, 2009
O




Warm Up: 10.5.2009 (5 min)

» WOD:
formulate—to create

» Warm Up:

1. Use the Word of the Day in a sentence that shows the
meaning of formulate.

2. Use your notes from last week. What is the difference
between a main idea and a supporting detail? Name all 5
organizational patterns. What is irony?




This Week Preview

O




“Big Questions” For The Week

What does a flashback look like in a text? (Mon)
What will be on my FCA tomorrow? (Mon)
What is the structure of a fairy tale? (Wed)

How can I make my own fairy tale and get an “A”? (Wed-next
week)
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Organizational Patterns

Cause and effect: an event and the result of that event
Compare and Contrast: how two things are similar/different
Problem/Solution: a problem and how to solve it
Chronological: events ordered IN TIME

Argument/Support: author takes a stand on an issue and
supports it.



Organizational Patterns

Flashback: author goes back to a previous event in time.




Recognizing Organizational Patterns

Cause and effect:
uses: cause, effect, as a result of

Compare and Contrast:
uses: similar, different

Problem/Solution:
contains a problem a way you might solve it

Chronological:
uses: first, second, last, then

Argument/Support:
contains an issue and the support for that issue

Flashback:
uses past tense (was, were) or “this remind me of...”




Let’s Practice

..............

Even before he meets the three witches, Macbeth dreams of
becoming King of Scotland. Then the witches predict he will
be king; finally, his wife convinces him to murder King
Duncan and take over the county.

What kind of organizational pattern? Why do you think this?
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Let’s Practice

Arrange the following group of sentences into an order that
makes sense.

By 1960 the number of TV sets in the country had risen
above 50 million.

After eight years, there were a million TV sets in the
United States.

Interest in television grew rapidly when broad-casting
began in 1941.

By 1994 there were over 211 million TV sets in American
homes.
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Let’s Practice

A boycott is an organized refusal by a group of people to deal
with another person or group in order to achieve a specific
goal. An illustration is the famous boycott that began in 1955
when Mrs. Rosa Parks refused to obey local laws requiring
African-American people to sit in the back of the bus. Mrs.
Parks was arrested, and that sparked a boycott of the
Montgomery bus systems by African-Americans. The boycott
was organized by Dr. Martin Luther King, Jr. Rather than
continue to lose money, the city repealed the law.

What kind of organizational pattern? Why do you think this?
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Let’s Practice

Arrange the following group of sentences into an order that
makes sense.

You might, for instance, sit calmly through a friend’s
criticism and act as if it didn’t bother you.

Apathy is an avoidance response in which a person
acknowledges unpleasant information but pretends he or she
doesn’t care.

Another example is responding to the loss of a job by
acting indifferent: “Who cares? It was a dumb job anyway.”



Let’s Practice
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Maintaining our national hiking trails is a growing concern.
Lack of funding and a dwindling interest in environmental
issues are contributing to the problem. I suggest that a
national organization be formed from local community
members to save the trails.

What kind of organizational pattern? Why do you think this?
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Let’s Practice

During the War for Independence, the British and American
armies were very different. The British army was composed of
professional soldiers, while the American army was made up
of civilians who knew little about military strategy and were
untrained for warfare. Although the British were skilled
soldiers, the colonists had one advantage they were more
familiar with the terrain than their enemy. The English used
cash and credit to outfit their army with uniforms, arms, and
ammunition, but the American troops usually supplied their
own arms and often wore only the clothing of the day, because
there was no official government with tax or money or credit.

What kind of organizational pattern? Why do you think this?
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Let’s Practice

Arrange the sentences below into a logical paragraph.

__In contrast, the original Italian story is the gruesome tale of
the Princess Talia, who falls into a magical sleep in the woods,
where she is raped by a nobleman and, later on, gives birth to
twins, whom the nobleman’s wife tries to have killed and
cooked for dinner.

__Itis often said that fairy tales, with their heavy doses of
violence, are too scary for young children.

__Consider the story of Sleeping Beauty that today’s children
know, which involves a princess who is put to sleep by a
wicked witch and then awakened by the kiss of her true love.

__But today’s versions of fairy tales are actually less
frightening than the original stories.
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Let’s Practice

In order to refill the treasury depleted by its many wars, the
English Parliament passed the Stamp Act in 1765. This caused
colonists to buy stamps to be placed on legal papers, diplomas
and newspapers. The angry colonists, already burdened
heavily, protested, since they believed that they were being
taxed without being represented. As a result, the Stamp Act
was repealed in 1776.

What kind of organizational pattern? Why do you think this?
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Let’s Practice

Arrange the scrambled sentences below into a logical
paragraph.

___Also, high tuitions affect the amount of time available for
studying; because loans and scholarships are hard to get,
many students have to put in numerous hours before school.

__For one thing, it undoubtedly prevents some students from
attending college in the first place.

__Finally those who do manage to get loans know that they
must begin their careers with large debt.

The high cost of college today causes problems for many
students in more ways than one.

__Itis difficult to manage money and schooling.



Let’s Practice
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When Bob was younger, he was a well-behaved child. In fact,
when he was seven years old, he would help his elderly
grandmother carry in groceries from her car.

What kind of organizational pattern? Why do you think this?
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Your FCA Tomorrow...
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Pre-Bubbling PSAT
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